e

1072

107

L.z]

1A+

ey

onstanl

8: 863%2

—0.60.008 086,064 0020 0.00Z 008 006.008.01

1072
107
107

107

10°F

0.95

—T)?cOOBJO&)O&)OZO 002{)0400600801

10°

1072k

107

e gﬁ.ﬂstam Zﬂé%gE

L1.U0

0.95

20.30.000.08.040.02 0 0.02.040.060.08 0.1

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_
—— DOQM_TT__mkFitRETEST_

107t

1072

107

T

1072

107

107

.............

Ties a7
i

1.2

9‘8.em 568 0B.0a%0070 0.002 00A 006008 01

Il

N

10
1072
107
10™
107°

10°®

TIEs
T e4g
. onstam

TTTIT
=

1.U0!

0-9%730.00.080.040.02 0 0.020.040.060.080.1

-.}0.08) 060.040.02 0 0.020.040.060. 080 1

s

"""""""""""""""" i Bev 8:

- *| Canstant

- 3
. N

0.95L

2%.20.080.060.040.02 0 0.02.040.080.08 0.1

1072

107

1.4
1.2
l

080 30.060.060. 090 02 0 000 040°065050.1

nes 095515 2 R
onstam

....................

.-




	Contents
	Page 1


